
Figura Área Volumen 
Cubo 

𝐴𝐴 = 6𝑎𝑎2 𝑉𝑉 = 𝑎𝑎3 

ortoedro 

𝐴𝐴 = 2(𝑎𝑎𝑎𝑎 + 𝑎𝑎𝑎𝑎 + 𝑏𝑏𝑏𝑏) 𝑉𝑉 = 𝑎𝑎𝑎𝑎𝑎𝑎 

prisma 𝐴𝐴𝐴𝐴 = 𝑎𝑎2
(La base puede ser cualquier polígono) 

𝐴𝐴𝐴𝐴 = 𝑃𝑃 ∙ ℎ 

𝐴𝐴𝐴𝐴 = 2𝐴𝐴𝐴𝐴 + 𝐴𝐴𝐴𝐴 
𝑉𝑉 = 𝐴𝐴𝐴𝐴 ∙ ℎ 

Cilindro 𝐴𝐴𝐴𝐴 = 𝜋𝜋𝑟𝑟2

𝐴𝐴𝐴𝐴 = 2𝜋𝜋𝑟𝑟ℎ

𝐴𝐴𝐴𝐴 = 2𝐴𝐴𝐴𝐴 + 𝐴𝐴𝐴𝐴
𝑉𝑉 = 𝐴𝐴𝐴𝐴 ∙ ℎ 

Pirámide 𝐴𝐴𝐴𝐴 =
𝑃𝑃𝑎𝑎𝑏𝑏

2
(La base puede ser cualquier polígono) 

𝐴𝐴𝐴𝐴 =
𝑏𝑏 ∙ 𝑎𝑎𝑙𝑙

2
∙ (𝑛𝑛º𝑙𝑙𝑙𝑙𝑙𝑙𝑙𝑙𝑙𝑙 𝑏𝑏𝑏𝑏𝑏𝑏𝑏𝑏)

𝐴𝐴𝐴𝐴 = 𝐴𝐴𝐴𝐴 + 𝐴𝐴𝐴𝐴 

𝑉𝑉 =
1
3
𝐴𝐴𝐴𝐴 ∙ ℎ 

Cono 𝐴𝐴𝐴𝐴 = 𝜋𝜋𝑟𝑟2 

𝐴𝐴𝐴𝐴 = 𝜋𝜋𝑟𝑟𝑟𝑟 

𝐴𝐴𝐴𝐴 = 𝐴𝐴𝐴𝐴 + 𝐴𝐴𝐴𝐴 

𝑉𝑉 =
1
3
𝐴𝐴𝐴𝐴 ∙ ℎ 

Esfera 

𝐴𝐴 = 4𝜋𝜋𝑟𝑟2 𝑉𝑉 =
4
3
𝜋𝜋𝑟𝑟3 
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